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Question Number : 1 Question Id : 698177919 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Shraddha who was scolded by her boss came to her room and tore the papers

on her table. The defence mechanism used here 13
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Question Number : 2 Question Id : 698177920 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Elementary impressions gathered by sense organs 1s

i £ e L, L P T I VTP R S S s
=oB0D wadiaore L,J'::m Enjstalolntzalaty |eREE niben

Options:

Sensation

| @ Sodtsso

Perception

e,
loldh

2. ® - ey

,
5350

Imagination

- &ho

Reasoning

~
oy
I8N

4 8 oo

Question Number : 3 Question Id : 698177921 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Developmental tasks of infancy fall into the domains of
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Cognitive and Affective

Cognitive and Conative
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Cognitive, Affective and Conative

Question Number : 4 Question Id : 698177922 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
According to Kohlberg, the age at which a person can reach highest level in

moral development
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Question Number : 5 Question Id : 698177923 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A Two year old boy has just started to speak. His grand mother who was
staying in village came to see them. After his father returned from office the
boy said that ‘grand mother came’ using the correct past tense form. The child
could use correct grammar because according to Chomsky. ability to
understand rules of one's own language 15
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Question Number : 6 Question Id : 698177924 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
Neelima while taking her child to a party said. ‘be cautipus with your
behavipur, reputation of our family is important, if I find anything wrong I'll

not spare you'. Neelima 1s this type of parent
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Authoritative

ut

Eitaieclelonynlu]

Permissive

Uninvolved

&5%; 528

Authoritarian

4. V00D

Question Number : 7 Question Id : 698177925 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

In an experiment conducted on Grade 7 students, to find out ‘the effect of noise
pollution on learning of students’, the dependant variable 13
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Noise pollution

; AT
%f-'e&,- SPeNayr0

Learning of students

2. &

Grade 7 students

LT Al N R
7 % #8508 Doethen
#a

3. %

Learning material

4. %

Question Number : 8 Question Id : 698177926 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Preeti was preparing for an exam and was watching world cup final match

simultaneously. She could not answer the questions on the following day. This

can be explained as
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Storage failure
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Question Number : 9 Question Id : 698177927 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Primary students are most affected by the
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Aptitude of the teacher
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Question Number : 10 Question Id : 698177928 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

One of the objectives of school to reflect the socio cultural context in which the

learner 13 gr{}wing 13 to
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Question Number : 11 Question Id : 698177929 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The cause for Learning disability among the following is
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Physical impalrment
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Central Nervous System dysfunction
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&0 20828
3. % o (=%
Mental Retardation
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Question Number : 12 Question Id : 698177930 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Play 1s used as a learning resource in school to develop a variety of skills
among children. Play can also be children-initiated activity in informal
situation. Identify the aspect among the following, that is there in ‘Play as a
learning resource’ but not in ‘informal play’
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Cooperation
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prescribed learning outcome
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Question Number : 13 Question Id : 698177931 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Rajesh as a teacher gave freedom to his students to learn as they wish, with

little expectations and discipline. Over the years, the students could not

complete their school successfully due to over freedom and lack of support from

the teacher. The leadership style of Rajesh 1s
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Authoritative
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Question Number : 14 Question Id : 698177932 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Identify the statement that deseribes ‘Assessment for Learning’
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Assessment conducted in the mid way of learning a concept to assess the

progress
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Assessment conducted after completing the activities relating to all of
the objectives
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Assessment conducted to assign grades
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Aszessment conducted less frequently, mostly at the end of a term
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Question Number : 15 Question Id : 698177933 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the statement that indicates attitude of a person
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A) ‘X' 1s good in numerical ability

B) ‘Y’ attends school regularly
Y’ B0 E5ySom dRiTeh Felid@n
C) ‘2 has not admitted his children in private school with a feeling that
they may become dependent on others forever
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Question Number : 16 Question Id : 698177934 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Ramu is a student of Class 6. He likes his school for playing with friends but

not for studies. It 12 an example for this type of individual differences
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Intra individual differences
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Question Number : 17 Question Id : 698177935 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Rate of development in various stages of development 1=

"
YT | T e R T ;
Sat) asrd Hded® O5ro 0o

Options :



uniform in all stages

not uniform in all stages
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Question Number : 18 Question Id : 698177936 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

One of the following activities has least scope for construction of knowledge by

the students 1n a clazsroom
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Options :
A teacher asking the students, “why all the plants do not grow in
deserts’?
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A teacher malking students to discuss on ‘cultivation of vegetables using
organic methods’
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Students reviewing the literature on ‘Plants — economic value’ and
discussing i groups in the classroom
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A teacher who reads the lesson 1n the classroom
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Question Number : 19 Question Id : 698177937 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
From the following, identify what you would NOT practice as a teacher mn

schools
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Options :

making the students participate in learning activities to provide hands-

On-experience
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promoting the idea of peer learning to enable all students to learn and
enjoy
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making the students practice only mock tests daily to achieve good rank
in annual examination
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identifving the abilities among students and providing the learning

experiences accordingly
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Question Number : 20 Question Id : 698177938 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

As per NCF, 2005, the appropriate learning resource in transaction of primary

level class room 13
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Options:

international text books

labs equipped with rich AV material

o) HyF; Fdes ardof EOAN F_""""-.,._IEJ

e-library loaded with information
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local environment
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Question Number : 21 Question Id : 698177939 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As per the Right to Education Act. 2009, no teacher shall be deployed for this

purpose
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Question Number : 22 Question Id : 698177940 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
According to the Rights of Persons with Disabilities Act, 2016. a system of
education wherein students with and without disability learn together and the
gystem of teaching and learning is suitably adapted to meet the learning needs
of different types of students with disabilities 1s known as
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Question Number : 23 Question Id : 698177941 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



From among the following, identify the correct statements
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A)  Reinforcement increases the occurrence of a response
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B)  Positive reinforcers increase the probability of occurrence of response
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C)  Negative reinforcers decrease the probability of occurrence of response
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D) Both positive & negative reinforcers increaze the occurrence of response
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Question Number : 24 Question Id : 698177942 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The stages encoding. retention and retrieval are part of this process
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Options :

forgetting
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learning
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Question Number : 25 Question Id : 698177943 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

A boy who was ridiculed by his friends for not knowing to ride a bicycle, learnt
it and continued to ride because of the pleasure. The motivation that made the
boy to learn and continue riding bieycle 12
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only intrinsic motivation
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both extrinsic and mtrinsic motivation

no motivation

Question Number : 26 Question Id : 698177944 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

According to Piaget's Cognitive Development Theory, ‘lrreversibility’, is

feature of this stage

“

5airE ;Gocgaﬂé 8 e ::C"Joﬁﬁo @se80, ‘BaaTrE)E Sl & ¥ 6lns) om0

q

Options :

Pre — operational
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Formal operational
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Question Number : 27 Question Id : 698177945 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Vygotsky's ‘Zone of Proximal Development’ indicates the range of tasks that

are
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too easy for the child to perfmfm alone
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too difficult for the child to master alone but can be learned with

guidance of skilled adults
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combination of easy and difficult tasks that can be assigned to child
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average tasks performed by child at school only
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Question Number : 28 Question Id : 698177946 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

One among the following does NOT indicate learning
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Options :

not touching the burning stick knowing it will hurt
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avolding nail biting understanding that it causes infections
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coming on time to school to avold punishment
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blinking the eyes when a sudden bright light appears
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Question Number : 29 Question Id : 698177947 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In Pavlov's experiment made on dog, the dog salivates even at the sound of the

bell. Here "Salivation’ 1s
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conditioned response
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unconditioned response
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2.
conditipned stimulus
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unconditioned stimulus
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Question Number : 30 Question Id : 698177948 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A teacher shall promote this among students to develop the problem solving

skall
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rote learning
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msightful learning
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trial and error learning
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Language I Telugu
SectionId: 69817732
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 22
Number of Questions to be attempted : 22
Section Marks : 30
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 69817750
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Id : 698177949 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (31 to 35)

Question Label : Comprehension



Sub questions

Question Number : 31 Question Id : 698177950 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 32 Question Id : 698177951 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 33 Question Id : 698177952 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 34 Question Id : 698177953 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 35 Question Id : 698177954 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

Sub-Section Number : 2
Sub-Section Id : 69817751

Question Shuffling Allowed : Yes



Is Section Default? : null

Question Id : 698177955 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (36 to 40)

Question Label : Comprehension
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Sub questions

Question Number : 36 Question Id : 698177956 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
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Question Number : 37 Question Id : 698177957 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 38 Question Id : 698177958 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 39 Question Id : 698177959 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 40 Question Id : 698177960 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Sub-Section Number : 3
Sub-Section Id : 69817752
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 41 Question Id : 698177961 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 42 Question Id : 698177962 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 43 Question Id : 698177963 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 44 Question Id : 698177964 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 45 Question Id : 698177965 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Question Number : 46 Question Id : 698177966 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 47 Question Id : 698177967 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 48 Question Id : 698177968 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 49 Question Id : 698177969 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 50 Question Id : 698177970 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 698177971 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Question Number : 52 Question Id : 698177972 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 698177973 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
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Question Number : 54 Question Id : 698177974 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 698177975 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 698177976 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 698177977 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 58 Question Id : 698177978 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id : 698177979 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 698177980 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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3. #
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4. %

Language II English
Section Id : 69817733
Section Number : 3
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 26
Number of Questions to be attempted : 26
Section Marks : 30
Enable Mark as Answered Mark for Review and
Clear Response: ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 69817753
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Id : 698177981 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (61 to 65)

Question Label : Comprehension



Read the following passage and answer the questions from 61-65. Choose the
correct option for each guestion.

Mount Vesuvius, a volcano located between the ancient Italian cities of
Pompen and Herculaneum. has recerved much attention because of 1ts frequent

and destructive eruptions. The most famous of these eruptions occurred in
AD 79

The volcano had been inactive for centuries. There was little warning of the
coming eruption, although one account unearthed by archasologists savs that a
hard rain and a strong wind had disturbed the celestial calm during the preceding
night. Early the next morning, the volcano poured a huge niver of molten rock
down upon Herculaneum. completely burving the city and filling the harbour with

coagulated lava.

Meanwhile. on the other side of the mountain. cinders, stone and ash rained
down on Pompen. Sparks from the burning ash ignited the combustible rooftops
quickly. Large portions of the city were destroved in the conflagration. Fire,
however. was not the only cause of destruction. Poisonous sulphuric gases
saturated the air. These heavy gases were not buoyant in the atmosphers and
therefore sank toward the earth and suffocated people.

Owver the years, excavations of Pompeiu and Herculaneum have revealed a
great deal about the behaviour of the volcano. By analyzing data, much as a
zoologist dissects an animal specimen. scientists have concluded that the eruption
changed large portions of the area’s geography. For instance, it turned the Sarno
Riaver from its course and raised the level of the beach along the Bay of Naples.
Meteorologists studying these events have also concluded that Vesuvius caused a
huge tidal wave that affected the world’s climate.

In addition to making these investigations, archaeologists have been able to
study the skeletons of victims by using distilled water to wash away the volcanic
ash. By strengthening the brittle bones with acrylic paint. scientists have been
able to examine the skeletons and draw conclusions about the diet and habits of

the residents.

Sub questions

Question Number : 61 Question Id : 698177982 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Mount Vesuvius has received much attention because of its
Options :

1 % mactiveness



> % location between ancient cities

3 ¥ trequent and destructive eruptions

4 % beauty

Question Number : 62 Question Id : 698177983 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

What saturated the air: sank toward the earth and suffocated people?
Options:

1 poisonous sulphuric gases

5 % @ huge river of molten rock

3 % coagulated lava

Flooded water

Question Number : 63 Question Id : 698177984 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

As per the passage. which of the following did not rain down on Pompeii during Mount
Vesuvius® eruption n A.D.797



Options :

1 % cinders

> % stone

ash

gold drops

Question Number : 64 Question Id : 698177985 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

As per the passage. how have scientists been able to examine the skeletons?
Options:

by dissecting an animal specimen.

5 % by applying poisonous sulphuric gases.

3 ¢ by strengthening the brittle bones of the victims with acrylic paint.

4 % by excavations only.

Question Number : 65 Question Id : 698177986 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

Strengthening the brittle bones with acrylic paint
Find out the similar meaning of the word “brittle.”

Options :
fragile

2 % strong

3 % well-built

4 % mighty

Sub-Section Number : 2
Sub-Section Id : 69817754
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 66 Question Id : 698177987 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Koutilya 1s known for his admimistrative theory,
The word “Koutilya™ 1s a/an

Options :
adjective

1. %

5 % adverb



w Mo

4. % promnoun

Question Number : 67 Question Id : 698177988 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Presently. the daughter is looking her parents.
Choose the correct option to complete the sentence.

Options :

about

after

with

on

Question Number : 68 Question Id : 698177989 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Finally, the warring parties stared seeing eye to eye on the peace deal.
The meaning of the expression “seeing eye to eye” 15

Options :



quarrelling with each other.

fighting with each other.

3 % disagreeing with each other.

agreeing with each other.

Question Number : 69 Question Id : 698177990 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Choose the correctly spelt word.
Options :
1.« diarrhoea

5 % diarhoea

3 % diarrhoa

4 w dierrhoea

Question Number : 70 Question Id : 698177991 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

Choose the appropriate word to complete the sentence.
She painted the portrait well.

Options:

| % quict

5 % quiat

uite
s

4 % quit

Question Number : 71 Question Id : 698177992 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Choose the correct option in which the jumbled words are ordered.
for/asked/in/The workers /distress/help

Options :

i The workers for asked in distress help.

> The workers in distress asked for help.

The workers asked in help for distress.

4 % The workers m help for asked distress.



Question Number : 72 Question Id : 698177993 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

He does yoga the morning.
Choose the appropriate word to complete the sentence.

Options :
1w over

2 ® up

3 v..fill

4 % with

Question Number : 73 Question Id : 698177994 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Identify the part with an error in the given sentence.

The child 15  awaiting for this?
A B & D
Options :
A
1. %



Question Number : 74 Question Id : 698177995 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The Prime Minister asked his cabimet colleagues. “Work for the people to win their heart,”
Choose the correct reported sentence.

Options:

The Prime Mmister warned his cabinet colleagues to work for the people to win their
1 & heart.

The Prime Minister warned his cabinet colleagues work for the people to win their
5 % heart.

The Prime Minister warned lus cabinet colleagues to work to the people to win their
3 % heart.

The Prime Minister warned his cabinet colleagues to work the people to win their
heart.

Question Number : 75 Question Id : 698177996 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The children play cricket every day.

Choose the correct question tag,



Options :

wasn’t they?

5 % do they?

aren’t they?
3. %

don’t they?

Question Number : 76 Question Id : 698177997 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose the correct option to complete the following statement.
Measles an infectious viral disease.

Options :

1 % are

2 i":u
WETES

3. %

4 % have

Question Number : 77 Question Id : 698177998 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

she performs well. she will be selected for the nationals.

Choose the appropriate word to complete the sentence.
Options :
Though

5 % Eventhough

3 % Unless

If

Question Number : 78 Question Id : 698177999 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

On seeing him. the dog kept tail waving.
Choose the correct option to complete the sentence,

Options :

1. % it‘l':‘p

Zg,ita

3 % it was

-
4. ®



Question Number : 79 Question Id : 6981771000 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

“The adolescent boy 1s suffering from mnferiority complex.”
Identify the antonym for the word “inferiority™ in the sentence.

Options :

“ electra

, x anta gonistic

3 SUP eriority

oedipus
%® L

Question Number : 80 Question Id : 6981771001 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose the correct option to complete the sentence.
A. Who are coming to the party?
B. Two of my friends to the party.

Options:

Were C{)lllll.llg

are coming



15 coming

have coming
4, % A

Question Number : 81 Question Id : 6981771002 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Choose the correct combined sentence.
Sabita did well in the interview. Sabita got selected for the post.

Options :

Sabita did well in the interview else she got selected for the post.

> % Sabita did well in the interview or she got selected for the post.

Sabita did well i the mnterview though she got selected for the post.

Sabita did well i the interview and got selected for the post.

Question Number : 82 Question Id : 6981771003 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the silent consonant letter in the word “Wednesday’.

Options:



)

W

Question Number : 83 Question Id : 6981771004 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Identify the correct Passive Voice sentence for the given sentence.
My father presented me a gift.

Options :

I was presented a gift by my father.
1.4

5 % A gift 1s presents to me by my father.

My father was presented a gift to me.

4 % lam presented a gift by my father.

Question Number : 84 Question Id : 6981771005 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Choose the correct option to complete the following sentence.
I a movie just before you arrived.

Options:

1 % have watched

w have been watched

., Were wat ching

4. had watched

Question Number : 85 Question Id : 6981771006 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The strategy of reading a text quickly i order to find specific information 1s known as

Options :

o Summarizing

> Scanning

3 % Scaffolding

Skimming



Question Number : 86 Question Id : 6981771007 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the learning difficulty seen at upper primary level.
Options :

- Trouble in expressing thoughts

Confusion with basic words while reading

3 % Ditficulty in thyming

4 % Trouble in learning the alphabet

Question Number : 87 Question Id : 6981771008 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Authentic material in teaching English 15
Options :

. any material officially suggested by the experts,

any material written in English that was not created for intentional use in the
English classroom.
2.4 TF :



any material written in English that was created for intentional use 1n the English
classroom.

any material which has been specifically produced for the purpose of English
4 % language teaching.

Question Number : 88 Question Id : 6981771009 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Children's learning of English is best when they have a
Options :

workbook for practice.

spacious classroom.

library with huge collection of books.

4 Strong motivation to learn English.

Question Number : 89 Question Id : 6981771010 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the selection of language items ‘Availability” means
Options :

1.



how often a certain item or word 1s used.

5> how far an item is convenient for using mn teaching.

3 % how many different meanings a word or an item can convey.

4 % how far an item 1s easy to learn.

Question Number : 90 Question Id : 6981771011 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

After reading a story from the textbook, the teacher has to engage the students by giving a
post reading task.
Pick an appropriate task for this purpose.

Options :

Write a brief description of the character that the students enjoyed from the story.
1.¢

Copy the story into the notebooks.

2. %

Memorise the answers for the questions given below the story.

4 % Give a dictation of words from the story.



Mathematics

Section Id :

Section Number :

Section type:

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

Question Number : 91 Question Id : 6981771012 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The slope of a line passing through (0,0) and (x,5) 1s V5, then the value of “x’is

]

O3aren V5 ¢

:’__.l.l'.\
)

L T T S 4 w_ Pyt i 3 . “AE
Sothden (0,0) 86 (x,5) @ Mot 2%

il

Options :

oty Eae? Ty
00000 X o/C0ed

69817734
4

Online
Mandatory
30

30

30

Yes

0

1
69817755
Yes

null



il

Question Number : 92 Question Id : 6981771013 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If log3 = 0.4771, log5 = 0.6990, then the number of digits in 152%%%is

log3 = 0.4771, log5 = 0.6990 @ond 152924 Hog:6® ok woBe Hogy;

Options :

\ % 2379

Question Number : 93 Question Id : 6981771014 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
FA=d ... =3=2=10123 LT B={0123 . . . FasdC={123_ . 1}

then choose a correct statement from the following.

A={uu.=3,-2,-10123....1 B={0,123, ........} 80 C= {1,23, .....}.

hxl

SURNETY Q- Sr LTI 7. IOV NF (R S WYX -
200006 ,_é!_.'L; Pl n.;_ac‘? c-;”_ﬂ,,‘ﬁu 2Joen5 ol



Options :

1 % AcBcC

CcBCcA
4

3 % AclCcB

4 % BcAcC

Question Number : 94 Question Id : 6981771015 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A sphere 15 inscribed in a cylindrical vessel, then the ratio of volumes of sphere and

cvlinder 1z

Options

1. ¢ 2:3
/g

2. ®

3 % £

4.331:_



Question Number : 95 Question Id : 6981771016 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The sides of a triangle are Tm, 24m and 25m, then the length of the altitude (in

meters ) to the smallest side 1s

Question Number : 96 Question Id : 6981771017 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose a progression from the following which is NOT a geometric progression.

o L R @ s g ey e
:;%OC- B8 00 MIES (Bl g Pan aJothB ol.



e
2. %
3 % 2,—6, 18, —54, ... ......
Lo gl
= 2 1 | A
4. &

Question Number : 97 Question Id : 6981771018 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose a correct statement related to straight lines from the following.

-

Bob st Hod $8¢ Tped donobod $T8 P QoHsiod.
Options :

There 1s a unique line that passes through the given two distinet points.

o

ot mé % Hothde Hote SFaH HUE0Y A88orr Hosnod.

=

’I.J

Straight lines parallel to the same straight line need not be parallel to one

another.

-

o o
A T o o Ty gy W TR o CD R A ¢ £t o
Cofd W'd'gc{ Ofen 2.5 0 ,.é, ol od '-"\3:\5:-.:,1 g ”,}amwé oD éﬁu merosdo Srnando

8.

Two distinet lines can have more than one point in commeon.

Dot ?ﬂé;c‘:ﬁ; Cgen 2583557 0503 630,80 Lothesn $DAcCNotron.



Only one line can pass through a given point.

- .n
T R DRl
B flotiha) MNDolt® B a.s 8us

Question Number : 98 Question Id : 6981771019 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

While playing cards, a player removed all the diamonds from a deck of 52 cards.
then the probability of selecting randomly an ace from the remaining deck 1s

qiy ggH Mt oAl R a0 g Ao oo
®méy @C nondoos”, &5 32 T Toe B

)& ol a8 sbreth o) ot e fe

ab

o -
VIV A=, - VAR - W SN SV S T AT SN SR Y RV A (VY - St
e EsfoT, g la) SRk BPHe anoG OJ,'C'N?.,_-_ S0 2.5 50000 alednS008 &0 o)

T

Question Number : 99 Question Id : 6981771020 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Out of 2.5 lakh voters mn a constituency, 54.2% voted, then the number of voters
who did not vote 1s
2.5 QaIress o &%) 2.5 oo %08 L608° 54.2% 508 Lén Seeth. wond Lén 6D 6

ff-':}%;};
Options :

| 1,14,500

1.24.000

5 % 134,000

4 x 1,44.500

Question Number : 100 Question Id : 6981771021 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The area swept by the minute hand of a clock in 12 minutes is 192.5cm?, then the

. : ; % 22
length of the minute hand of a clock (in centimeters) 1s (Tﬂﬂ\'e m= ?)

2.5 hédirdo s &) & Dvale & awep 12 Oapedt B0 :,E{;Erirtf Je°e;0192.5 ¥.20.50.,
‘2 Lo ol (28 iRt 22

waond Nédirdo CL.UéL w&.-.Jo:“F o SRt (.'\;OW'QJG'EJ'J ] T =— M &50rfodod

Options:

1'@,1?.3

N

®
L
L]



3 % 14

21

Question Number : 101 Question Id : 6981771022 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following surds in ascending order.

\r'\.

i :'EIE-: i |

¥,
(

o
1)

e

f4*

/140,51

]
b

Options:

Question Number : 102 Question Id : 6981771023 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



If the polynomials x? 4 ax? — 14 and 2x® — 5x + q are divided by (x — 2) leaves the
same remainder, then the value of ‘a’ 12

]{F3 _|_ arz P 14 ‘-‘J\.-u_f-'\lﬁ“\;'\-'\ 213 v 51 _I_ 'ﬂ- l:ﬂ_—'-\ ,-_-"4—._\,'\"/-»?/-» -"{.'. F 2 _—.'.‘ .-5,2,-. ad B "{‘:\\‘6 _5:"'_'.\-_\

A ; e D0O0LD A ¥ el el adli0Eed] {l ) O EPNowNT edttyed Do By
Jaimdo wond ‘'a’ @0%) Dend

Options :

1.*&*’4

Question Number : 103 Question Id : 6981771024 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If cot@ + cosec® = p, (0" < 8 < 907). then cotd =

cot8 + cosecd =p,(0° < 8 <907), ®oud cotd =

Options :




Zp
pZ+1

pi+1

4.« 2P

Question Number : 104 Question Id : 6981771025 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The expenditure on various items for a family in a month are food - 71500,
education - 750, rent - 2250 and other expenses - 4500. When a pie chart 1s
drawn for the given data. The angle of the sector representing rent in the pie chart
1

2.8 Hinono 2.8 Jué’ siFeA - 71500, D - 750, 6T - 72250,

B85 gthen - 4500 ) T3, BN SErododh P G H ABS, B

?é, H0208003 1%5 Aloifel =0
Options:
1 % 30

2. % 60

3 v 90

180°

Question Number : 105 Question Id : 6981771026 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The cost of an article goes down every year by 30% of its previous value. If the cost

of it after 2 years 15 22,050, then its original cost 13

NI Y L T 1 T4 T e Y SV e o R P STV TRV Y

2.5 aucon)) oJe0od [oded -:\;O-:-'}‘JJ,Ir 00 T slrelad) dennd _}0{.( [ARVLY Sioeoh. & £S5 @ oellad
= - J J a & s

T A T T a1 17 D50 & T e Do

oJE]o) £ 0200 C?Jc IR "‘.s’:‘ccvt 27 G:.'JO 2000080, T) &r0ED olels

Options :

748,000

1. %
i 745.000
“ 742,000

4w T41,000

Question Number : 106 Question Id : 6981771027 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

If A, B and C are non-empty sets, then AU(BNC) =
A, B 56805 C en &r3;88 $&&8a, AU (BN C) =

Options:

mw{ﬁUHHHﬂUC}

(AnB)U(ANC)



, (AUB)U(AUC)

(ANB)N(ANC)
4, %

Question Number : 107 Question Id : 6981771028 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

-

The length of hypotenuse of an 1sosceles right angled triangle 15 12 cm, then its
area (in sq. centimeters) is
IRy

Y A . WL N 'v—: X Tt e REOE o o 5 " ,-,:~_ £ o

o 5 .~ 2 = i ~ 4 & P - . B e
D w-:-_l.l{_}: EFol ©08S B |e9ge30 QlUS I 500 alia) 12 ook, ®onn Pd o
) s ; & i

Question Number : 108 Question Id : 6981771029 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

In 4 years, T8350 amounts to T12,036 at a certain rate of simple mterest. In what
time will 72400 amounts to 72778 at the same rate of simple interest?

4 Hoddmred”, Boé Srorde .;“*L‘i Ot 2 ¥8850, 12,0360 dndo whdob. of Jrrdes

ol

56 Oenp 22400 o8 e’ 72778 Fngo wHEo0b.

Options :

1 vear 3 months

g 1 0oa80o 3 Joen

1 year 6 months

1 So5ddo 6 Jeen

1 year 9 months

J.:'E'ﬁj‘j’ gn_u
3. '

1 year 8 months

4 % 1 Sosé o 8 Seen

Question Number : 109 Question Id : 6981771030 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

If the mean of 4. p. 10. 13. q.19 1s 11.5. then the relation between ‘p and q" 1s

4. p. 10, 13, q 19 e I?_C:.a_.:n(ﬁ 30a00 11.5 @owid p“‘_l:@t‘“‘” q' 08 - Soootio
Options :

- p+q =325



2. ® p—q=23

Question Number : 110 Question Id : 6981771031 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The smallest number by which 29403 to be multiplied to get a perfect cube 1s
29403 & & 5251 Sog:d Medods o D8I P Hog; @Eod.

Options :

1. % 11

Question Number : 111 Question Id : 6981771032 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



HCF of 27a%b?,45a%b*, 12a*b? 15

27a2b3, 45a%b*, 12a*b? & &@wE; KBH F5rd: s8erobo

B )

Options :

x 3a’b*

3a’bh?

3a%pht

4 % 3a’h*

Question Number : 112 Question Id : 6981771033 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In APQR. right angle 1s at Q. QR = k., PR = 2k, then £QRP : £LQPR =
Q 563 woeSmo fo APQR & QR =k, PR = 2k wonss 2QRP : 2QPR =

Options :



Question Number : 113 Question Id : 6981771034 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Choose the correct statements related to proportions from the following.

Sob = 788 wddrssned Sonobod) ¥0% T JothE ol
A) A book consists of 100 pages. The number of pages read is in inversely
proportion to the number of pages left over m the book.

Dagos” 100 Hden Sud. D80s” 3898 v Hog; £:660 DAY 1o Sogre

B) A car takes 4 hours to reach the destination by travelling at a speed of
60km /hr and if the car covers the same distance in lesser hours, then the
speed also decreases.

28 = fobd 60 8.4, FnE® FHoirod Hipznd 4 Hoves® T6H Hoch of
tir8oi 8% H50hod® Bhdol, eyt Jisn &ree 8HE0d.

Choose the correct answer.

Tah

[LPLY

] c\.'o_l.l Vil AP oy oy o) GLMS E_,n(‘;h

B

Options :

Both A and B statements are true.

e

A 58050 B Gotd amrgien H&:ab.

1. %

Statement A 1z true and Statement B 1= false.

v s A &0 $h8dm ampyy B edEo
2. c -

Statement A 1s false and Statement B is true.

3 % aFegde A 'F—'p‘-@ s SnBdin aPrEs B n.,@u'f}



Both A and B statements are false.

|.l
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Question Number : 114 Question Id : 6981771035 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The angles of elevation of the top of a lighthouse from two boats A and B in a
straight line of same side of the light house are 30 and 60", If the distance between

the boats 1s 6m. then the height of the light house (in meters) 1s

1

48650 B 8ot D¥den 2.2 558006 Sarair 88 5 35
A £8050 B Goth a¥den 2.8 H0¢ P LOPGT G8) oF 0 o

a o r Iy
LS e 2 T T L GV £ ol oA 0 4 0 mo e 00D e <
O o r ol {?_'.04"‘,“-?_& Habaodie Sihar @ 30 086y 60 &0.8srewd elded)ols “5!.. BE»
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)

Question Number : 115 Question Id : 6981771036 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



The following is not a characteristie of an axiom:

Bob anded rﬁcﬁgﬁﬁo Gns; X0 SR:
Options :

Absence of Evidence

88050 &80 B56°5E0
1. %

Sufficient Evidence For

> o oo &S Er—g;::

Non-Superfluousness

mEadrEto =06

Adequacy

SOKTE

Question Number : 116 Question Id : 6981771037 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

This aspect of using ICT does not help teachers in teaching learning process:
ICT? ex@rAoStos’s & wodo s H8ahs® airmraine® Sifabo Iahih:

Options :

Sending students on field trips to explore mathematics in and around them.

P ﬁm“;dguz‘fn a6 Théxe ﬁﬁ&a’ﬁs&cﬂue@ Hedaei @ﬂ;&cﬁim@g b e HodHto.
1 ) Er (Y

Providing virtual reality simulations in teaching learning process.

, 5 SETHFES HEDHE 556 6arOS HVBLS 05 eoboSKo.



Downloading the instruction manual from the internet.

3 % 506085 Dod drdie SrkpNéd TRAE Zhshhdo.

Using software to automate geometric constructions.

4 % s S08ch DomEred Sicbomebo (2655546 ) Jchwnsd %@-355} essd@mhoSto.

Question Number : 117 Question Id : 6981771038 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The main purpose of formative assessment in mathematics:
KeB0&® Dowyerd S SrerosSo GnY) sngy eB30:

Options:

Allotting final grades
wofisdh (Eod 2tranosto

Knowing expected outcomes

udodd HDared Beniosihio

Judging the final results
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Continuous feedback
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Question Number : 118 Question Id : 6981771039 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

This is one of the important characteristics of a good mathematics textbook:

26 008 A8 FEK%0 GnY) SneE ofmrod® o856
Options :

Encouraging rote memorization-based learning

B S0 s B8 irosto

Emphasis on theoretical concepts only

Prods grasseth SeED o ssito

Having rote memorization learning techniques

08 a8 o 55 SroSfigeen EOR sofo

Integrating with real-life situations

4 Des DA a’jﬁfgﬁ]ﬂe‘? BNV eVIRV e inInle)

Question Number : 119 Question Id : 6981771040 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following are generally measurable and achievable within a mathematics
classroom teaching-learning process?
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Options :



Educational aims and instructional objectives.

AT &éaue:c SoBdin S T

Educational aims only.

ey aBaeen SPEs.
=

Instructional objectives only.

St egren SPSab.
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Educational goals only
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Question Number : 120 Question Id : 6981771041 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Desirable action of students after receiving the assessed mathematics answer seripts for
their improvement in learning:
Sren 8 ehHo 303 K3 waren Dol H500DN ol o TaFD?

Options :

Recognize their mistakes and ignoring them
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Tallying the total marks awarded only
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Understanding their mistakes and correcting them for improvement.
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Answer scripts should be hidden from parents
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Science
Section Id : 69817735
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30
Section Marks : 30

Enable Mark as Answered Mark for Review and

Yes
Clear Response:
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 69817756
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 121 Question Id : 6981771042 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Asteroids are found in between the orbits of
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Options :

Mars and Jupiter
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Earth and Mars
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Saturn and Jupiter
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Saturn and Uranus
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Question Number : 122 Question Id : 6981771043 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

To find out the relative density of an object. we usually compare its density with
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Options :

Water density
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Object density

Kerosine density
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Alr density
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Question Number : 123 Question Id : 6981771044 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Read the following statements and choose the correct answer.
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Statement I : When we reduce the angle between two plane mirrors, the
number of images of the Dbject between them increases.
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Statement Il : In a rearview mirror. we get diminished image of the object.

-:TGJE{_._ II : P?O M) &ﬁ, gl.,lﬁg":“ 56{'\.#_- ) é:r"_-_;"rEJCr L_-Eél Eﬁﬁt‘ =3 -:\/.._.C&

Options :

Statement I 15 true, Statement II 1s false
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Statement I 1s false, Statement II 1s true
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Both Statement I and Statement II are true
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Both Statement I and Statement II are false
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Question Number : 124 Question Id : 6981771045 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

A person travelled in a bus for 15 hours. Initial reading in the odometer was 1891

before starting the journey and after reaching the destination the reading shown

as 2881. Then his average speed

o e 3 5 S e N S R e P A =1
2.5 ok Eurw = J.'J o @ a0, [adiETEe @}"‘DO&'OM o080 6 ;._J_;[A_,Dé |EJT\jOw

o = (=
1 L P ¥ |
(=8 4] o

26

Options :

266 Km/h
266 8.5, /Ko.

313.5 EKm/h
313.5 8.5 /Ko

33Km/h
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66 Km/h
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Question Number : 125 Question Id : 6981771046 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In an electric circuit, an MCB 1s to be connected 1n

i Heochod® a8 MCB ser wddorrido ddbard
Options:

Series only
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Parallel only
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Combination of Series and Parallel

Neither Series nor Parallel
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Question Number : 126 Question Id : 6981771047 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Blister copper 1s refined in this method
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Options :

Distillation
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Liquation
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Question Number : 127 Question Id : 6981771048 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The machine used commercially for separating the cream from milk
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Options :

Atwood machine

ey

it dhowo



Centrifuge
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Sieving machine
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Question Number : 128 Question Id : 6981771049 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
The ‘p’ in pH stands for

pH & P ©ol

Options :

Pascal
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Question Number : 129 Question Id : 6981771050 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Heat . .
CU{]{S} 23 Hﬂ[g] =7 CU{S:; + Hzﬂ[n 1Isa/an

S0

Cu{][s} + Hgng — CII[S] + HED{I} 2.5
Options :

Oxidation reaction
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Reduction reaction
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Neutralization reaction
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Question Number : 130 Question Id : 6981771051 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which model proposed that “The mass of the atom 1s considered to be uniformly
distributed throughout the atom™?
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Options :
@Quantum mechanical model of atom
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Nuclear model of atom
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Planetary model of atom
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Plum pudding model of atom
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Question Number : 131 Question Id : 6981771052 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

According to which principle “No two electrons of the same atom can have all four
qunntum numbers the same”
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W

-:\,c.l_-' RO '(:‘:Jua
Options :

1. %



Aufbau principle
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Pauli's Exclusion principle
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Hund's rule

Quantum rule
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Question Number : 132 Question Id : 6981771053 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1 Angstrom =

= R =
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Options :

1l nm

10 nm

0.01 nm

4 0.1 nm



Question Number : 133 Question Id : 6981771054 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

These cells are present in highest in number in blood
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Options :

Erythrocytes
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Monocytes
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Granulocytes

Lymphocytes
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Question Number : 134 Question Id : 6981771055 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify the female sexual part of a flower



Options :

Stamen

Sraledn

Pistil
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o
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Anther
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Stigma

Semfam
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Question Number : 135 Question Id : 6981771056 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

‘Adam’s apple’ 1s formed due to elongation of
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Thyroid gland
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Thyroid cartilage
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Voecal cords

Epig]{}ttis
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Question Number : 136 Question Id : 6981771057 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The way how new species are formed 15 known as
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Options :

Micro evolution
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(Genetic mutation
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Speciation
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Natural selection
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Question Number : 137 Question Id : 6981771058 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In some plants, ovary in flowers directly develops into fruit without the process
of fertilisation. This phenomenon 1s known as
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Options :

Parthenogenesis
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Parthenocarpy
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Question Number : 138 Question Id : 6981771059 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

For the growth and repair of our body. we need
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Options :

Proteins
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Vitamins
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Carbohydrates
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Question Number : 139 Question Id : 6981771060 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify the symptom of the deficiency disease ‘Rickets’
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Options:

Wealk muscles and little energy to work

Swelling of glands in neck
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Bones become soft and bent
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Bleeding gums and wounds take longer time to heal
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Question Number : 140 Question Id : 6981771061 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

This type of fluorosis occurs only in poorly nourished children whose diet 1s low

1 calcium
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Options :

Dental Flurosis
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Neurological Flurosis

Skeletal Fluorosis
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Question Number : 141 Question Id : 6981771062 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The number of mitotic divisions are required for formation of 128 daughter cells

from a single mother cell
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Question Number : 142 Question Id : 6981771063 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Japanese encephalitis 1s caused by



Mosquito bite
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Question Number : 143 Question Id : 6981771064 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The change of state from liquid to gas 1s called
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Perspiration
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Evaporation
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Question Number : 144 Question Id : 6981771065 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The world’s first/ synthetic microfiber was invented by the Toray Industries
Scientist Dr. Miyoshi Okamoto in the year
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Options:

1390

1970

1966
%

« 1930
Question Number : 145 Question Id : 6981771066 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Among the following Indian scientists. who described the methods of
“distillation, extraction, sublimation” and the equipment required for them m

his book ‘Rasaratnakara’
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Question Number : 146 Question Id : 6981771067 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The curriculum must convey significant and correct scientific information. This
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Cognitive validity
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Question Number : 147 Question Id : 6981771068 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Which of the following belongs to the academic standard “Conceptual

understanding”?
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Options :

Asking questions
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Explaining
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Hyvpothesizing
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Collecting Information

Question Number : 148 Question Id : 6981771069 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the wrongly paired teaching learning method and example
SSpmr 28H5508E S arels HEBD Hddn sTrirdeid HBoHod.

Options :

Inductive approach — Doctors wear stethoscope around their neck.
Siraj is wearing a stethoscope around his neck.

Siraj is a doctor
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Deductive approach — All gases are compressible. Hvdrogen 1s a gas.

Hydrogen i1s compressible.
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Lecture cum demonstration - Explanation of the concept of

conductivity of heat using a Bunsen

burner
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Project method - Collect the leaves in your immediate environment
and observe their features
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Question Number : 149 Question Id : 6981771070 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The approach to curriculum in which the content of topic selected will be

explained in detail in the same class
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Options:

Concentric approach
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Topical approach
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Psychological approach
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Logical approach
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Question Number : 150 Question Id : 6981771071 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which one of the following i1z an audio-visual aid?
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Options :

Radio
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